KRB ERFTF[HFF 2 Juvon
S CRPHEE B AT E 03 Rk CHH BT Ereh S R B
“'ﬁ a‘& ‘*i 70 o

(- W%’ ffﬁ-uff‘*—wﬁ*—%hw - SO HARNTHRITEPR S BYY

f_{ﬁ,%gﬁ H .b = ;\A o ;F F\’:' ,*. afr% B ?:: ’ I, \:"F ';]‘._&_1\4’; FFB--‘:L_% = ?\’5/\\7}_{"%§§Z~
GAFAFETHEE (R W HEFLHF AP ONS Y ZRAT\YET R B
Ti\l)o

(Z) (2 Hgrdf § 2 PRapypH2 ) PR B R~ 2 > g e dee 5 RE2 g
FEhrEFHBE(R S MABR) FREXFF BT fRZAEE LT R B
EFFERFRT L F e RERFEAM TR -

(Z)EY #He g B aeendp iz 0 114 £ 02 2 ~1144f 05 % ;

(‘E)W%%?frnbp” 114 # 03 * 19p (=)

(Z)BY HeriFEps 114 # 05

()p%”%M%ﬁkmﬁiﬁfﬁﬁﬁ§4h{£w$\m§w,W%*o

(COREFE-E W E RPN ERL L
R EE - v T BE
~‘§r‘;%§iém:: NN - 3

(MBEFFEEP AL R a8 2 -

LB RT FReR T

(Z DB P A Y B RE TR S T RYET L B2 B P
FAERMFIEHETERERTEVE BRI R IRER E T4
Rt

(Z)HTIN113E 092 19p %4 (=) F% 1132403085 5. : 48 B ik 1
TAR 2§l > ¢ 3597F KEF 2 Frc AR (FREZEWAEKEF ) 7 F HBK
P FRBHRFLIEISREFRAERLITAR 4ot ()3 A% 82
FO1AEBIEAR

EER

O (FEERTE) F OB RT IR R BRI AP FREETEEFY
% (FEeFETE) ¥ 130E 1 F & imﬁfw%?&r@ LHHE“‘“MMW

b ORI T LR E

o o M-RBeR T o~ 19 R - 0 P K TINI08E 057 2T P 4 HAL(Z)
F % 1080074918 5Ld @ yHIL F B ? E U T F R~ B EHFE AR ~ FacA 54
EAREND FEKTHLFY > Ut iaERE wf—ffm 2 Frig 0 RARRRER
TP WETEFRR Y G TR RIERT i‘aﬂhx/’#"“#’?"p Eﬂ’:

(ZORTREAFR(FZ ZABMETAL) 1142057 087 (=)
(e)RBFTPFF 114 #0372 29p () AiEp 5 114+ 047 07Tp (- )
242 0 E REERNT B RS
()ﬁ?w\ﬂﬂ&&f’4wﬁﬁ4ﬁ@xbJiiwﬁﬁﬁﬁ?Pﬂopﬂ$ﬂ:
R v E g Y PRarT o (https://moe. elearn. hrd. gov. tw/index. html) » 3 i=

7~




eI R ﬁrﬂﬁi“ﬁ%ﬁﬁ?Jw%ﬂi°

(Z)7F B> ek~ 9635 Rl 7 ~ BRI ERPS LD AN 2L R F
24 (] PN 2o ix AL o R PR Y L A T R pRILL AR o

(Z)AfeiE (HTE 5T 2 ) PR 2 HTRILMZE o g chdz £ 2 g
PR T R R R K RS F A ARELR

() (oI ERTE) F 18 1F 1 e R FP T N B KT AP AR R
p 4]};&J,

(I)(MEETPRRpiE) 89 357 SNTEREEYRISBETIFIAKT
A2 302

(7)) (28 2 S EPINPAEN) % 4iF B3P EUTEREEY BypLog 2 0
EP BRI RT A 20 S ]

(ZD110 09 7 01 p++3&E 35 % 1100078797 S = © Boa? S U TH & HF &
ByER 23 2 P ERHN B ETFAN KT EET P 3F = (Z 0 )e

(M) (FIek A Fini2) $60F : Fard INTERIFFERT 4] P2 Foek
3 e AR o

(= )FLd § Ry R g 4 g 3 113-2 24
ﬁi%%&ﬁﬂ%%ﬁiﬁ%’ik%ﬁ%?aki

(C)HRFANFHRTF OB v s Eus  RFEANFRLF 3B i
AN S BREWEA B T EFL R D ARR FTIRP o

CHrAEHHPrpfaegralldE 012 15p (2 );TEHHi-Fin g 114 & 02 7
19p(z)-

(E)PRETF A6 s FF RS A HF > LI I RKFEFAR%K > FFA S
| & B4 7RIS > P F P 2~3 &3k

s 114 & 01 % 10 p ()

B
B
=
Gl

fiE g A
Heny — I ZER
Heny = 7T - ST ER

Heiy = 31 IER
Hene w71 ZE%

L AREP2REFE FHEET N DR AE RLWEE BN P-



